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1-If f(z) = v2 — z and g(x) = V& + 3, then the domain of (5) (x)
2 [—2), 3) b) (—3,0) ) (—3,2] d) (—o0, —3]U[2, 0) e) (—oo, —2]U

20 —1, if z< -1 _ .
2-If f(x) = { % +3,  if z>—1° and g(z) = [z], where [] is

the greatest integere function, then (f o g) (—0.3) +/(f - ¢) (0.5) is
equal to
a)—2 b) —4 c)—1 4) -3 e)l

x + 1, then g(z) is equal to

3-If f(x) =2z —1and (fog)(z) =2
x4+ 2 e)r+1

a) —2 b)2z + 2 )2 d)x +

4- The values of k so that when 2% — 3z — 8 is divided by = + k, the
remainder = —4 is

a)l,—4 b)—1,4 c)12,—4 d)4,1 e)—8,—4

5-The remainder when dividing 323 — 222 — 150 by 22 — 4 is

a)12z4+142  2)122—-150  ¢)ldz+142  d)122—158  ¢)—
122 + 158



